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The booklet contains OMR sheet and having two
seals. Candidates will first open the booklet by
removing the seal at the top to get the OMR sheet.
Second seal will be removed two minutes before the
commencement of the examination.

Before starting the Examination, the candidate must
write her/his Roll Number in the Question Booklet
and the OMR Answer Sheet; in addition to putting
signature at the places provided for the purpose.

This Question Booklet consists of this cover page, and
a total 100 items. Use Blank pages available at the
end of Question Booklet for rough work.

There are four alternative answers to each item
marked as (a), (b), (c) and (d). The candidate will have
to select one of the answers that is considered to be
correct by her/him. S/he will mark the answer
considered to be correct by filling the circle.

Use black/blue ball point pen to darken the circle.

See the following illustrations.

[llustration:

1. Thesum of 20 and 12 is

(@) 32 (b)38(c)31(d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

3 1000

Half filled, faintly darkened, ticked or crossed circles
will be read as wrong answers by the optical scanner
and will be marked as incorrect.

The OMR Answer Sheet must be handed over to the
invigilator by the candidate before leaving the
Examination Hall.

Keep OMR Sheet straight. Do not fold it.

All questions are compulsory, each question carries
one mark.

Incidence of carrying of calculator/mobile/any
electronic  device/objectionable material will be
treated as unfair means case.

Controller of Examination

PuT e X fas o fanie/gfaw 1 fufar # oidsh # o0 uz & sifew AT SR

Please note that in case of any confusion, the question printed in English will be considered final.
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High Biological oxygen demand in water
body indicates .............

a) Chemical pollution

b) Organic pollutant

¢) High photoautotroph

d) Pressure of heterotrophs

If a certain place shows stable population
distribution. It means maximum number of
individual will be ..........

a) Healthy

b) Youngest

¢) Oldest

d) Reproductive lymoreactive

Which statement is not correct for all
mammals?

a) Absence of scales

b) Absence of laying egg

c) Absence of segmentation

d) Presence of asexual reproduction

Which of the following cancerous
transformation is due to retero virus?

a) Human T Cell leukemia
b) Burkitt Lymphoma

c¢) Oral Epithelial Cancer
d) Colon cancer

The 'Biological clock' in higher vertebrates
isregulated by ...................

a) The pituitary gland

b) Cerebral cortex

¢) Supra-chiasmatic nucleus in hypothalamus
d) Thymus

Changes in the body form of some
planktonic animals with seasonal change in
temperature are grouped under ............

a) Anamorphous

b) Cyclomorphosis
c) Metamorphosis
d) Heteromorphosis
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Which one of the following ecological
pyramids can never be inverted?

a) Pyramid of number
b) Pyramid ofsize

¢) Pyramid ofbiomass
d) Pyramid ofenergy

Which group of organisms serves as the best
indicators of pollution in a stream?

a) Plankton
b) Neuston
c) Benthos
d) Nekton

A taxon facing an extremely high risk of
extinction in the wild in the immediate future
isregardedas...........

a) Critically endangered
b) Endangered

c) Vulnerable

d) Near threatened

All stages in the life cycle of malarial parasite
are haploid except ...............

a) Sporont
b) Schizont
¢) Gamout
d) Ookinete

The infective stage of Entamoeba histolytica
1S e,

a) Trophic form
b) Mature cyst
c) Sporozoite

d) Minuta form

Entamoeba histolytica was first discovered by

a) Craig
b) Lambel
c) Losch
d) Dobell
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Quinine, utilized in the treatment of malaria, is
extracted from.................

a) Redants
b) Blisterflies
c¢) Cinchona
d) Cinnamon

The phylum that is characterized by the
animals having a ‘water vascular system’ is

a) Cnidaria
b) Annelida
¢) Mollusca
d) Echinodermeta

Which one of the following animal persisting
above 400 million years without further major
morphological evolution?

a) Kingcrabs

b) Porcelain crabs
¢) Horseshoe crabs
d) Hermitcrabs

Which one of the following animals possesses
two chambered heart?

a) Chameleon
b) Peacock
¢) Goldfish
d) Blue whale

Barr body is missing in the female suffering
from...........

a) Huntington's disease
b) Tay-sachsdisease
c¢) Klinfelter syndrome
d) Turner's syndrome

Which of the following is not responsible for
biodiversity loss..................

a) Alien species invasion
b) Co-extinction

¢) Ex-situ conservation
d) Deforestation
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Who is known as Darwin of 20th century?
a) R.H Whitakar

b) D.J.Ivanowsky

c) ErnstMayr

d) T.O. Diener

The net production of NADH molecules when
4 glucose molecules yield 8 molecules of
lactic acid through glycolysis and subsequent
fermentation is

a) 4
b) 8
c) 0
d) 2

All Animals of ......... class are ectopararsites
on some fishes.

a) Amphibia

b) Osteichthyes
c) Reptilia

d) Cyclostomata

Which of the following statements is
WRONG for viroid's?

a) RNAisofhighmolecular weight
b) They lack aprotein coat

c) They are smaller than viruses

d) They cause infections

In Arthropoda respiration is accomplished by

a) Booklungs, and gills
b) Tracheae, book lungs and gills

c) Tracheae in terrestrial habitat and gills in
aquatic habitats

d) Tracheae only

Which of the following maternal effect gene
products regulate production of anterior
structures in Drosophila embryo?

a) Bicoid and Nanos

b) Bicoid and Hunchback
¢) Bicoid and Caudal

d) Nanos and Caudal
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Which of the following function is NOT
served by the plasma protein?

a) Blood clotting

b) Oxygen transport

¢) Binding and transport

d) Buffering capacity of blood

Membrane-bound, golgi-derived structures
containing proteolytic enzymes in sperms of
seaurchinarecalled..............

a) Cortical granules
b) Micromeres

¢) Acrosomal vesicles
d) Macromeres

Peroxisome is the microbody of a cell that
helpsin............

a) Removal of electrons and associated
hydrogen

b) Removal of proton

c¢) Conversion of carbohydrate into fat

d) Conversion of carbohydrate into protein

Mosquitois ......veueeneennnnn.
a) Ammonotelic

b) Uricotelic

c¢) Ureotelic

d) Guanotelic

Which one of the following interaction plays a
major role in stabilizing B-DNA?

a) Hydrogenbond

b) Hydrophobic interaction

¢) Vander Waal's interaction

d) Ionic interaction

Which is true for the amount of yolk and
cleavage in egg of amphibian?

a) Mesolecithal and holoblastic cleavage

b) Isolecithal and holoblastic cleavage

¢) Mesolecithal and meroblastic cleavage

d) Microlecithal and meroblastic cleavage
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The component in bile which helps to emulsify
fatinthe duodenumis.............. ?

a) Bilesalts
b) Biliverdin
c¢) Bilrubin
d) Chelestrol

. The homologue of B-catenin in Drosophila is

a) Fushitarazu

b) Engrailed

¢) Armadilo

d) Cubitus interruputus

A chromosome alternation leads to change in
the order of genes in a genetic map but does not
alter its linkage group. This is due to

a) Translocation
b) Recombination
c¢) Transposition
d) Inversion

Beating of ciliaisregulated by ..................
a) Actin

b) Myosin

c¢) Cofilin

d) Nexin

The mammalian oocyte prior to sperm entry is
arrested at what stage of cell division?

a) Prophase of mitosis

b) Prophase of meiosis I

¢) GI phase ofmitotic cell cycle
d) Metaphase of meiosis I1

The part of embryo from which the ectoderm,
mesoderm, and endoderm are formed in chick
isknownas...................

a) Primitive streak
b) Hypoblast

c) Epiblast

d) Cytotrophoblast
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a) BIATATTHRISS a) Homopolysaccharide

b) g HIRIES b) Heteropolysaccharide

¢) enfl&d sgel 377 c¢) Branched chain molecule
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e s sl T ... T 38. Deficiency of vitamin E brings about ......
grargl a) Scurvy

a) Tt b) Beri-Beri

b) 049 c) Slow clotting of blood

o) YT T ST ST ST d) Impotence

d) FAGHehT

39. Hypoglossal nerve controls movement of ...
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The estimated genome size of Bos taurus is

a) 1.93Gb
b) 2.87Gb
¢) 3.55Gb
d) 5.95Gb

Anti-teatnus serum is prepared from
a) Rat

b) Rabbit

¢) Guineapig

d) Horse



43.

44,

45.

46.

47.

48.

d) amrE

HTTT QR 3 QG o GRTeT FT 81T 87
a) S HITAHRIIAT T fedATOT

b) To[ehIST & TG

¢) Tofehlot T JiTereTehYoT

d) SETA T fFAToT

TATSHIATSTAYT HTshaT IR & forg H1aT
Al g?

a)m

b) ATSEIRl=gaT

43.

44,

45.

46.

47.

48.

The disease dengue fever is transmitted by

a) Anopheles mosquitoes
b) Culex mosquitoes
¢) Ades mosquitoes
d) Mansonia mosquitoes

Which of the following cranial nerves is
............ parasympathetic.

a) Facial
b) Auditory
c) Abducens
d) Vagus

What happens in the human body during
respiration?

a) Formation ofnew cells

b) Formation of glucose

c¢) Oxidization of glucose

d) Formation of protein

Inwhich partofthe cell, glycolysis process occurs?
a) Nucleus

b) Mitochondria

c) Chloroplast

d) Cytoplasm

Flagellated cells, which line the spongocoel in
Poriferansareknownas...............

a) Ostia

b) Mesenchymal cells
c) Choanocytes

d) Oscula

Phylum Annelida is not characterized by

a) Segmentation

b) Closed circulatory system
c) Ventral nerve chord

d) Pseudocoelom
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Cnidarians, which exhibit only polyp stage?
a) Cubozoa

a) FFSVSAIT b) Scyphozoa
° - c) Anthozoa
b . AT d) Hydrozoa
¢) TYTSAT3T
d) FTSZra3
$idcH & I VAT T § SiT Ugol hiscd 50. What do craniates have that earlier chordates
& T 7S A did not have?
o . a) Brain
2) ) b) Post-anal tail
b) U.ET & aTE Y EC c¢) Partial or complete skull
¢) 312 AT qut WasT d) Bone
d) g53r
Research Methodology
fAFIfaf@a 7 O $la-ar 2er-gag At ¢ 51. Which of'the following is not a data-collection
. method?
HTTHTeT 9%T .
2) 2 a) Research questions
b) eI HIETIHR b) Unstructured interviewing
c) 3Teh HSETUT Y=ATaell c¢) Postal survey questionnaires
AEIGEIEIRECIET] d) Participant observation
PrIfca’ JerEeae @ faey e 520 The research antagonistic to ex-post facto
2| researchis...............
..... f. .ﬁ. - 3{‘2— - a) Experimental studies
3) ) b) Library researches
b) T&AHTe ?'"3““"’" ¢) Normative researches
¢) HTeleh eTaYTe] d) Social research
d) FrATTST JTgaene
IRFETAT oo #H T8T el ST Thal gl 53. Hypothesis cannotbe statedin.................
a) ENSUTIcHS 2T a) Declarative terms
b) YT 3R TRT T ree b) Null and question form terms
9 - orf ¢) General terms
& - d) Directional terms
d) fermer 2
g gearg & ... H 9R&Fegar &r 54. Formulation of hypothesis may not be
rwT 3T A & necessaryin..............
S ——— a) Survey studies
SAE b) Factfinding (historical) studies
b) T2 Tt (Yfgrfaeh) reaas ¢) Experimental studies
c) UTNfaTeh et d) Normative studies

d) G 3T
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55. Which technique is generally followed when

56.

the population is finite?

a) Purposive sampling technique
b) Areasampling technique

¢) Systematic sampling technique
d) Non Systematic sampling

How is random sampling helpful?

a) Reasonably accurate

b) Aneconomical method of data collection
c) Free from personal biases

d) All of the above

57. Choose the best answer. A literature review is

58.

a) Conducted after you have decided upon
your research question

b) Helps in the formulation of your research
aim and research question

c) Is the last thing to be written in your
research report

d) Isnotpartofaresearch proposal

Which Chi Square distribution looks the most

like a normal distribution?

a) A Chi Square distribution with 4 degrees of
freedom

b) A Chi Square distribution with 5 degrees of
freedom

c) A Chi Square distribution with 6 degrees of
freedom

d) A Chi Square distribution with 16 degrees
of freedom

59. Which of the following values is used as a

summary measure for a sample, such as a
sample mean?

a) Population parameter
b) Sample parameter

c) Sample statistic

d) Population mean
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What are the variables whose calculation is
done according to the weight, height, and
length known as?

a) Flowchartvariables
b) Discrete variables

¢) Continuous variables
d) Measuring variables

Intellectual Property Rights (IPR) protect the
use of information and ideas that are of

a) Ethical value
b) Moral value
¢) Social value
d) Commercial value

Plagiarism where writer changes a few words
in the original text of another is known as

a) Directcopying
b) Word switch
c) Paraphrasing
d) None ofthese

63. Referred documents mustbe citedas .........

64.

a) Endnote

b) Footnote

c) Bibliographies
d) Allofthese

Expand the term BLAST?

a) Basic Language Alignment Search Tool
b) BestLocal Alignment Search Tool

c¢) Basic Local Alignment Search Tool

d) Basic Literature Analytical Search Tool

. Polymerase used for PCR is extracted from

a) Escherichiacoli

b) Homo sapiens

c) Thermus aquaticus

d) Saccharomyces cerevisiae
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Which of'the following is the most sensitive of
the spectral methods?

a) Absorption spectroscopy

b) Mass spectroscopy

¢) Flame emission spectroscopy
d) Atomic emission spectroscopy

In fluorescence microscopy, which of the
following performs the function of removing
all light except the blue light?

a) Exciter filter

b) Barrier filter

¢) Dichroic mirror
d) Mercury arc lamp

Degree of scattering in transmission electron
microscopeis a functionof...............

a) Wavelength of electron beam used

b) Number of atoms that lie in the electron
path

¢) Number and mass of atoms that lie in the
electron path

d) Mass of atoms that lie in the electron path

Where do we obtain the magnified image of
the specimen in SEM?

a) Cathoderay tube

b) Phosphorescent screen
¢) Anode

d) Scanning generator

The most common type of ion detector found
in ICP system is which of the following?

a) Faraday cup collector

b) Channeltron

¢) Micro-channel plate

d) Flame ionization detector
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71. The two important components of research

72.

73.

74.

75.

76.

responsibility are: sincerity in work and
avoiding .....................

a) Plagiarism

b) Writing the thesis
c) Researchtechniques
d) Confidentiality

Which of the following is not a "Graphic
representation"?

a) PieChart
b) Bar Chart
c) Table

d) Histogram

The research that is especially carried out to
test and validate the study hypotheses is
termed.........

a) Fundamental research
b) Appliedresearch

¢) Conclusive research

d) Exploratory research

In order to pursue the research, which of the
following is priorly required?

a) Developingaresearch design

b) Formulating aresearch question

c) Deciding about the data analysis procedure
d) Formulating aresearch hypothesis

Researchis........................
a) Searchingagainand again
b) Finding solution to any problem

¢) Working in a scientific way to search for
truth of any problem

d) None ofthe above

Surveyisa................ Study.
a) Descriptive
b) Factfinding
c) Analytical
d) Systematic
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Final stage in the Research Processiis.......
a) Problem formulation

b) Datacollection

c) DataAnalysis

d) Report Writing

A comprehensive full report of the research
processiscalled......................

a) Thesis

b) Summary Report
c) Abstract

d) Article

Anull hypothesisis................
a) Subjective in nature
b) The same as research hypothesis

c) When there is difference between the
variables

d) When there is no difference between the
variables

One of the methods of logical reasoning
processiscalled................

a) Induction
b) Deduction
¢) Research
d) Experiment

Research ethicsdonotinclude.............
a) Honesty

b) Subjectivity

c) Integrity

d) Objectivity

Classroom communication can be described

a) Exploration

b) Institutionalization
¢) Unsignified narration
d) Discourse
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Meanroot square deviationis............
a) Variance

b) Meandeviation

c¢) Standard deviation

d) Co-efficient of variation

Hardy Weinberg Law relates to.............
a) Population genetics

b) Demography

c¢) Social structure

d) Incidence and prevalence of disease

Which of'the following is not polymeric?
a) Nucleicacids

b) Proteins

c) Polysaccharides

d) Lipids

A microscope is set to 10x eyepiece and 40x
objective. What is the total magnification?

a) 140x
b) 410x
c) 400x
d) 100x

Which of the following microscopy
techniques relies on the specimen interfering
with the wavelength of light to produce a high
contrast image without the need for dyes or
any damage to the sample?

a) Conventional bright field light microscopy
b) Phase contrast microscopy

c) Electron microscopy

d) Fluorescence microscopy

The electrons of the Scanning Electron
Microscope are reflected through ............

a) Glass funnel

b) Specimen

c) Metal-coated surfaces
d) Vacuum chamber
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The object can be magnified under an electron
microscopeabout....................

a) 350,000 times
b) 250,000 times
c) 300,000 times
d) 450,000 times

Electric potential of various parts of brain is
recorded by aninstrumentcalled.............

a) Sphygmomanometer

b) Electrocardiography

c) Computed axial tomography
d) Electroencephalography

........ technique uses the body's water
molecules as the bases for its images.

a) Sonography

b) MRI

¢) Radioactive traces
d) Thermography

Taqpolymerase isisolated froma..............
a) virus

b) bacterium

c) fungus

d) protozoan

Blunt ends of passengers and vehicle DNAs
arejoinedby ....................l

a) DNApolymerase |
b) RNApolymerase
c) DNAligase

d) DNApolymerase III

Find the mode of the call received on 7
consecutiveday 11,13,13,17,19,23,25

a) 11
b) 13
c) 17
d) 23
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The instrument used to measure the blood
pressure is

a) Sphygmomanometer
b) Barometer
c) Photometer
d) Manometer

What do you understand by the term
"Anusandhan"?

a) Goal-oriented

b) Followinganaim

c) Attaininganaim

d) Praying to achieve an aim

The bases change litmus paper from ............
a) Bluetored

b) Redtoblue

c) Redtoorange

d) Orangetoblue

Which of the following statement about the
Zoological Survey of India (ZSI) is true?

a) It was established in 1890 at the Royal
Botanical Gardens, Calcutta.

b) It is the first crocodile conservation
breeding center in Asia.

c) It was established in 1916 to do an
organized survey of fauna in India.

d) It was established in 1982 for research in
Wildlife Management.

a) Massive open online course

b) Massive online open course

c) Master online open course

d) Mathematics open online course

Expand FISH?

a) FluorescentIn vitro hybridization
b) Fluorescent In silica hybridization
c) Fluorescent /n situhybridization
d) Fluoro In situ hybridization
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